PIK: 1139,00
Skala 1:100/100

Bl o 1STN= 0,62m2
Bl v PROU= 0,11m2
] nasyp = 0,70m2
B wykop = 0,25m2

P.P. = 112,00

RZEDNE
PROJEKTOWANE

117,22
7,25
117,31

RZEDNE
KONSTRUKCY

-116,98 |-117,36
117,16

117,10
116,93

RZEDNE TERENU

ODLEGLOSCI

—6,25 1 117,83
-2,87 1 117,07

-2,50
—0,44 1 117,04

0,00 -
2,15 116,89

2,50 7
4,89 117,54 1

-3,54
-3,50

PIK: 1187,00
Skala 1:100/ 100

Bl v 1STN= 1,00m2
Wl HuvpPROU= 0,112
] nasyp = 2,19m2
[ wykop = 0,00m2

P.P. = 110,00

\

RZEDNE
PROJEKTOWANE

115,23

114,87
-115,51

RZEDNE
KONSTRUKCY

-115,25 |-115,40
-115,25 |-115,40

RZEDNE TERENU

115,31 |-

1R [1mse
114,94 115,08 |-

1298 11846

115,02 7-115,13

ODLEGLOSCI

1
0

—4,72 4 114,84
~4,30

~3,50

~2,50

—2'31 1 115,0
—0,06

0,00

2.4

25

3,50

376

7,29 115,99

PIK: 1234,68
Skala 1:100/100

Bl uv. STN= 0,33m2
Bl uv.PROU= 0, 11m2
] NASYP = 0,51m2
B wykop = 0,47m2

P.P.=108,00

RZEDNE
PROJEKTOWANE

113,28

-113,55

-113,55
-113,32

RZEDNE
KONSTRUKCY

-113,34 113,49
113,17
-113,34 113,49

113,40
13,17

RZEDNE TERENU

4 113,29 113,22 |-113,60
113,21 - 11340

ODLEGLOSCI

—6,06 1 113,82
—4,03 1 113,27

—-3,82

—-3,50
-2,15 1 113,35

5585 7 113,51

-2,50 7
-0,02
0,00
2,50 4
2,66 7
3,50
3,75

PIK: 1283,30
Skala 1:100/100

Bl o ST = 1,04m2
Bl uv.PROU= 0, 11m2
] NaSYP = 145m2
B wykop = 0,49m2

P.P.=107,00

|
\
|

RZEDNE
PROJEKTOWANE

-111,50
-112,03

-111,47

RZEDNE
KONSTRUKCY

1
1

-111,70 |-112,08

-11,82 111,97
-111.88 |-

11165 112,03
111,65

-11,82 111,97

RZEDNE TERENU

ODLEGLOSCI

—4,79 1 111,42
—-2,09 1 111,80
0,33 - 111,80
2,88 1 111,72
4,70 1 111,39

—4,20
-3,50
-2,50
0,00 -
2,50 A
3,50 A
4,25 A




